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AR LRSS RO5 | WgELGL | AR LTH | ASAT 81 A 6 0 0.3 BJX| 40 104.0 TEME 31.0 30 A
AR _EARAARL S RO5 | GRS LT ASET 81 A 7 0 0.16 k% 40 56.0 TEME 17.0 30 PRI
AR LRSS RO5 | WgELGL | AR LT ASAT 81 A 8 0 0.62 E/X | 40 216.0 TEME 65. 0 30 REMHIK
INRECZ Sishe RO5 | R | AR LT ASET 81 A 13 0 L3 e/ % 40 452.0 TEME 136.0 30 PRI
AR LRSS RO5 | WgELGL | AR LTH | ASAT 81 A 15 0 0.2 /X 40 70.0 TEME 21.0 30 A
INRECZ Sishe RO5 | R | AR LT ASET 81 A 16 0 0.26  E/F% | 40 90.0 TEME 27.0 30 PRI
AR LRSS RO5 | WgELUL | A LT ASAT 81 A 17 0 0.18 | BE/F | 40 63.0 TEME 19.0 30 REMHIK
INRECZ Sshe RO5 | GRS LT ASET 81 A 18 0 0.31 | BE/F% | 40 108.0 FEME 32.0 30 PRI
AR LRSS RO5 | WgELUL | A LT ASAT 81 A 20 0 0.25 | BE/F | 40 87.0 TEME 26.0 30 REMHIK
INRECZ Sshe RO5 | GRS LT ASET 81 A 22 0 0.17 | BE/% | 40 59.0 FEME 18.0 30 PRI
AR LRSS RO5 | WgELUL | A LT ASAT 81 A 23 0 0.12 | B/F | 40 44.0 TEME 13.0 30 REMHIK
BB EARAARL S RO5 | GRS LT ASET 81 = 1 0 0.09 kX 40 33.0 FEME 10.0 30 PRI
AR LRSS RO5 | WgELUL | A LT ASAT 81 = 2 0 0.2 BJX| 40 73.0 TEME 22.0 30 REMHIK
BB EARAARL S RO5 | R | AR LT BASET 81 = 3 0 0.25 /% 40 96.0 FEME 29.0 30 PRIk
FINRPCZZ S EREy RO5 | WgELGL | A LT ASAT 81 =} 6 0 0.05 E/% | 40 17.0 TEME 5.0 30 REMHIK
INRECZE SiEhey RO5 | GRS LT ASET 81 = 7 0 0.38  E/% 40 148.0 FEME 44.0 30 PRI
FINRPCZ S EhEy RO5 | WgELGL | A LT ASAT 81 =} 8 0 0.23 B/X | 40 89.0 TEME 27.0 30 REMHIK
INRECZ ke RO5 | GRS LT ASET 81 = 10 0 0.39 | BE/F | 40 137.0 FEME 41.0 30 PRIk
FINRPCZ S EhEy RO7 | MR BB LR R 81 A 6 0 0.3 | B/% | 40 104.0 EME 31.0 30 REMHIK
INRECZ S ke RO7 | GRS LT ASET 81 W 7 0 0.16 k% 40 56.0 FEME 17.0 30 PRI
AR LRSS RO7 | MR BB LR R 81 A 8 0 0.62 | BE/%| 40 | 216.0 EME 65.0 30 REMHIK
INRECZ ke RO7 | GRS LT ASET 81 A 13 0 L3 e/ % 40 452.0 FEME 136.0 30 PRIk
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FR_ B S RO7 | R | AR LT ASET 81 A 15 0 0.2 | B/% | 40 70.0 TENE 21.0 30 R IR
AR LRSS RO7 | MU | BB LW | HRET 81 A 16 0 0.26 /% 40 90.0 M 27.0 30 REMHIK
FR_ERMAES RO7 | WEER | AR LT ASET 81 A 17 0 0.18 | E/% | 40 63.0 TENE 19.0 30 T IR
AR LRSS RO7 | MU | BB LW | HBET 81 A 18 0 0.31 | B/% 40 108.0 M 32.0 30 REMHIK
FR_ERMAES RO7 | WEER | AR LT ASET 81 A 20 0 0.25 | /% | 40 87.0 TENE 26.0 30 T IR
AR LRSS RO7 | MU | BB LW | HBET 81 A 22 0 0.17 | B/% 40 59.0 M 18.0 30 REMHIK
FR_EFMAES RO7 | GRS LT ASET 81 A 23 0 0.12 | /% 43 44.0 TENE 13.0 30 T IR
AR LRSS RO7 | MgERUR | BB LR | HBET 81 ) 1 0 0.09 E/%| 43 33.0 M 10.0 30 REMHIK
FR_ERMAAS RO7 | GRS LT ARET 81 % 2 0 0.2 | be/% 43 73.0 TENE 22.0 30 A IR
AR LRSS RO7 | MgERUR | BB LR | HBET 81 ) 3 0 0.25 E/%| 45 96.0 M 29.0 30 A
FR_ERMAAS RO7 | GRS LT ARET 81 % 6 0 0.05 | AX 46 17.0 TENE 5.0 30 R Ik
AR LRSS RO7 | MgERUR | BB LR | HBET 81 ) 7 0 0.38 /X 46 148.0 M 14.0 30 REMHIK
FR_ERMAAS RO7 | R | AR LT ASET 81 % 8 0 0.23 | /% | 46 89.0 TENE 27.0 30 R Ik
AR LRSS RO7 | MgERUR | BB LR | HBET 81 ) 10 0 0.39  AX 43 137.0 M 11.0 30 REMHIK
X MENELG5GEE, FIMELTHR, LTFD(2)~(6)LRLC,

X EMRE—HRMICRET DMDEREICONTIL, HBRISEEAT B,
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(2) a3k
FIESTT ] DN ] ‘
szt | o | Q o RE | HE | | HR | T HEES | spte -
i | | TOTRE O HRSE RS ONE B | WRC | mac e R R WO W R ek | T
(ha) (4/ha)  (ha)

B _EARMAR A (RO4) | (I ) | (BB _Eif) | O\BEMT)  (283) A 1 (2) | (0.05) | (0.05) arZ .05 Al

B _EARMAR A (RO4) | (IR ) | (BB _Eif) | O\BEMT)  (283) =] 2 (2) | (0.16) | (0.16) arZ .16 Al

B _EARMAR A (RO4) | (IR ) | (BB _Eif) | O\BEMT)  (283) =] 2 (0) | (0.01) | (0.01) ar7 .01 Al

B _EARMAR A (RO4) | (M) | (BB _Eif) | O\BEMT)  (283) =] 2 (0) | (0.07) | (0.07) ar7 .07 Al

B _EARMAR A (RO4) | Mz ERUR | AB_LAT [ O\VHERT)  (284) = 2 (1) | (0.04) | (0.04) )7 .04 A

B _EARMAR A (RO4) | MzERUR | AB_LAT [ OkFAmr)  (159) 2 3 2 | (0.13) | (0.13) AF J13 0 FREL - TA - 2Bk
B _EARMAR A (RO4) | Mz ERUR | AB_LAT [ OkFAmr)  (159) 2 3 (2) | (0.01) | (0.01) AF L0l TR - TA- > Ak
B _EARMAR A (RO4) | Wz ERUR | AB_LAT [ OkFAmr)  (159) 2 3 (4) | (0.02) | (0.02) AF 02 FEL - TA- > Ak
B _EARMAR A (RO4) | Mz ERUR | AB_LAT [ OkFAmr)  (159) 2 3 (0) | (0.09) | (0.09) AF L09 TR - TAI- > aBikR
B _EARMAR A (RO4) | Mz ERUR | AR_LAT [ OkFAmr)  (159) 2 3 (2) | (0.03) | (0.03) AF L03  TEL - TA- > Ak
B _EARMAR A RO4 [ MELUR RS LT | ASET 11 X 10 0 0.41 | 0.41 | 10H AF 2,500 RN & - A o R o] 571173
B _EARMAR A RO4 | MBI AL | ASET 11 S 10 0 0.13 | 0.13 | 10H AF 2,500 J13 0 Rk - T Bk
B _EARMAR A RO4 | MELUR RSLTT | ASET 11 S 10 1 0.28 | 0.28 | 10H AF 2,500 .28 AliEk - FAL - o Bk
B _EARMAR A RO4 | MELUR RSLTT | ASET 11 S 10 3 0.11 | 0.11 | 10H AF 2,500 IR - i o (R o] 571173
B _EARMAR A RO4 | MELUR RS LT | ASET 11 X 10 0 0.22 | 0.22 | 10H AF 2,500 .22 Rk - FAL - o Bk
B _EARMAR A RO4 | MELUR RSLTT | ASET 11 X 10 1 0.36 | 0.36 | 10H AF 2,500 .36 AlEk - FAL - o Bk
B _EARMAR A RO4 | MBI RSLTT | ASET 11 X 10 2 0.52 | 0.52 | 10H AF 2,500 .52 AfiEk - FAL - o Bk
B _EARMAR A RO4 | MELUR ORSLTT | ASET 11 X 10 3 0.28 | 0.28 | 10H AF 2,500 .28 AliEk - FAL - o Bk
B _EARMAR A RO4 | MELUR AL | ASET 11 X 10 1 0.11 | 0.11 | 10H AF 2,500 RN - i o (R o] 5;173
B _EARMAR A RO4 [ MELUR RSLTT | ASET 11 S 10 2 0.08 | 0.08 | 10H AF 2,500 .08 AliEk - FAL - o Bk
B _EARMAR A RO4 [ MELBR RS LT | ASET 11 X 10 3 0.40 | 0.40 | 10H AF 2,500 NIV & - A o R o] ;1173
B _EARMAR A RO4 | MELUR ORSLTT | ASET 11 X 10 1 0.14 | 0.14 | 10H AF 2,500 J14 Rk - T - Bk
B _EARMAR A RO4 | MELUR RSLTT | ASET 11 S 10 2 0.02 | 0.02 | 10H AF 2,500 02 AlEk - FAL - o Bk
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(2) JEAk
FIESTT ERONE ] ‘
sz | o | Q o RE | HE |  HR | T HEES | spte -
i | g TOTR O HRSE RS ONE B | WRC | macowem R R WO W R e | T
(ha) (4/ha)  (ha)

B _EARMAR A RO4 | MBI AL | ASET 11 S 10 0 0.32 | 0.32 | 10H 2¥ 2,500 32 Rk - T - o BkR
B _EARMAR A RO4 [ MELUR RS LT | ASET 11 S 10 0 0.14 | 0.14 | 10H 2¥ 2,500 14 R T - o Bk
B _EARMAR A RO4 | MELUR ORSLTT | ASET 11 X 10 1 0.52 | 0.52 | 10H 2¥ 2,500 52 Rk - T - o Bk
B _EARMAR A RO4 | MELUR AL | ASET 11 X 10 2 0.11 | 0.11 | 10H 2¥ 2,500 A R T - o Bk
B _EARMAR A RO4 [ MELUR RS LT | ASET 11 S 10 1 0.57 | 0.57 | 10H 2¥ 2,500 BT Rk - T - o Bk
B _EARMAR A RO4 | MELUR ORSLTT | ASET 11 X 10 2 0.09 | 0.09 | 10H 2¥ 2,500 L09 Rk - T - o BkR
B _EARMAR A RO4 | MELUR ORSLTT | ASET 11 X 10 0 0.08 | 0.08 | 10H 2¥ 2,500 08 HEk - T - o Bk
B _EARMAR A RO4 | MELUR RSLTT | ASET 11 S 10 0 0.18 | 0.18 | 10H 2¥ 2,500 18 Rk - T - o Bk
B _EARMAR A RO4 [ MELUR RS LT | ASET 11 X 10 1 0.09 | 0.09 | 10H 2¥ 2,500 L09 Rk - T - Bk
B _EARMAR A RO4 | MELUR ORSLTT | ASET 11 X 10 2 0.15 | 0.15 | 10H 2¥ 2,500 15 R - T - o Bk
B _EARMAR A RO4 | MELUR AL | ASET 11 X 10 3 0.10 | 0.10 | 10H 2¥ 2,500 10 R - T - o Bk
B _EARMAR A RO4 | MBI RSLTT | ASET 11 X 10 1 0.04 | 0.04 | 10H 2¥ 2,500 L04 R - T - o Bk
B _EARMAR A RO4 | MELUR ORSLTT | ASET 11 X 10 2 0.32 | 0.32 | 10H 2¥ 2,500 32 Rk - T - o BkR
BB EARAMH A RO4 | GBI BB BT | ASET 11 v 11 0 0.14 | 0.14 104 2 2,500 L4 REE - T - HBERR
BB EARAMH A RO4 | GBI BB BT | ASET 11 v 11 0 0.53 0.53 | 104 2 2,500 .53 fEE - Tl - AR
B _EARMAR A RO4 | MELUR ORSLTT | ASET 11 iz 11 0 0.43 | 0.43 | 10H 2¥ 2,500 43 R - T - o Bk
BB EARAHA A RO4 | GBI BB EFT | ASET 11 v 11 0 0.44 | 0.44 | 104 2 2,500 L44 REE - UL - BB
B _EARMAR A RO4 | MBI RSLTT | ASET 11 %+ 12 0 0.18 | 0.18 | 10H 2¥ 2,500 18 Rk - T - o Bk
B _EARMAR A RO4 [ MELUR RS LT | ASET 11 %+ 12 0 0.07 | 0.07 | 10H 2¥ 2,500 L0T Rk - T - o Bk
B _EARMAR A RO4 | MELUR RS LT | ASET 11 %+ 12 0 0.30 | 0.30 | 10H 2¥ 2,500 30 HER - T - o BkR
B _EARMAR A (RO4) | WgBRUR | BB _LAT [ (ARmn)  (27) =] 2 (0) | (0.05) | (0.05) AF L05  HERL - FAl- Bk
B _EARMAR A (RO4) | WzBRUR | BB_LAT [ (Amn)  (27) =] 2 (0) | (0.05) | (0.05) AF L05 HERL - FAl- Bk
B _EARMAR A (RO4) | WzBRUR | BB_LAT [ (Amn)  (27) =] 2 (0) | (0.05) | (0.05) AF L05  HERL - FAl- Bk
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(2) JEAk
FIESTT ] RO N ] ‘
sz | o | Q ok R RE AT 5 | HEES | spte -
i | g TOTR O HRSE RS ONE B | WRC | macowem R R WO W R e | T
(ha) (4/ha)  (ha)

B _EARMAR A (RO4) | (R | (BB_Ef) | (M) (28) = 2 (1) | (0.03) | (0.03) AX .03 FEL - FAl - Bk
B _EARMAR A (RO4) | (R | (BB_Ef) | (M) (83) A 1 (1) | (0.43) | (0.43) AX 43 FEL - Pl oAbk
B _EARMAR A (RO5) | (g R | (B_Eif) | CORFAlD)  (159) | (0N) (29) (2) | (0.13) | (0.13) (A %) L1300 BRL - T bk
B _EARMAR A (RO5) | (HgRY) | (Lt OkFAmD)  (159) | () (30) (2) | (0.01) | (0.01) (A %) L01 BERL - T Bk
B _EARMAR A (RO5) | (HzRY) | (B_Eif) | OkFAmD)  (159) | (0N) (30) 4) | (0.02) | (0.02) (A %) L02 HRL - FA- Bk
B _EARMAR A (RO5) | (g Ry | (B_Eif) | CORFAmD)  (159) | () (31) (0) | (0.09) | (0.09) (A %) L09  HERL - FAl- Bk
B _EARMAR A (RO5) | (g R | (B_Eif) | OkFAmD)  (159) | (0N) (32) (2) | (0.03) | (0.03) (A %) L03 HERL - FAl- Bk
B _EARMAR A RO5 [ MELUR | RBLTE ) KANMT 191 A 8 0 0.37 | 0.37 | 10H | =¥ | 2,500 3T R - T - o Bk
B _EARMAR A RO5 [ MELUR | RBLTE ) KFNET 191 A 9 0 0.64 = 0.64 | 10H | =¥ 2,500 C64 R - T - o Bk
B _EARMAR A RO5 [ MgELUR | ARLT ) KANET 191 A 10 0 0.2 0.2 10 = =% | 2,500 20 Rk - T - o Bk
B _EARMAR A RO5 [ MgELUR | RRLTE ) KANMT 191 = 12 0 0.4 0.4 104 AF 2,500 NIV & - A o R o] ;1173
B _EARMAR A RO5 [ MpELUL | ABLTE ) KANET 191 = 5 0 0.71  0.71 | 10H | =¥ | 2,500 CTU R - T - o Bk
B _EARMAR A RO5 [ MgELUR | ARLT ) KANET 191 = 13 0 0.17 | 0.17 | 10H AF 2,500 IRV - R o (R o] 5;173
B _EARMAR A RO5 [ MgELUR | ABLTE ) KANMT 191 = 14 0 0.11 | 0.11 | 10H AF 2,500 IR - i o (R o] 571173
B _EARMAR A RO5 [ MELUR | RBLTE ) KANMT 191 = 15 0 0.41 | 0.41 | 10H AF 2,500 RN & - A o R o] 571173
B _EARMAR A RO5 [ MgELUR | ARLT ) KANET 191 = 16 0 0.14 | 0.14 | 10H AF 2,500 J14 Rk - T - Bk
B _EARMAR A RO5 | MgELUR AL | ASET 11 S 1 0 0.41 | 0.41 5H AF 2,500 RN & - A o R o] 571173
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 2 0 0.13 = 0.13 5H AF 2,500 J13 0 ARk - T Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 3 1 0.28 = 0.28 5H AF 2,500 .28 AliEk - FAL - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 3 3 0.11 | 0.11 5H AF 2,500 IR - i o (R o] ;1173
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 4 0 0.22 = 0.22 5H AF 2,500 .22 MRk - FAL - o Bk
B _EARMAR A RO5 [ MgELUR RS LT | ASET 11 S 5 1 0.36  0.36 5H AF 2,500 .36 ARk - FAL - o Bk
B _EARMAR A RO5 | MgELUR AL | ASET 11 S 5 2 0.52 = 0.52 5H AF 2,500 .52 AliEk - FAL - o Bk
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(2) JEAk
T 9 %)\ijiiﬁmwg 5 B RHH TR
et it i : : : : Glstincd IEVEVS
B A T A A ﬁ% W we kx m | em e || we
(ha) (4/ha)  (ha)

B _EARMAR A RO5 [ MgELUR RS LT | ASET 11 S 5 3 0.28 = 0.28 5H 2¥ 2,500 28 Rk - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 S 6 1 0.11 | 0.11 5H 2¥ 2,500 A R T - S Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 6 2 0.08 = 0.08 5H 2¥ 2,500 08 HEk - T - o Bk
B _EARMAR A RO5 [ MgELUR RS LT | ASET 11 X 6 3 0.4 0.4 5H 2¥ 2,500 40 R - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 S 7 1 0.14 | 0.14 = 5H 2¥ 2,500 14 R T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 7 2 0.02 = 0.02 5H 2¥ 2,500 L02 Rk - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 8 0 0.32  0.32 5H 2¥ 2,500 32 Rk - T - o BkR
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 S 9 0 0.14 | 0.14 = 5H 2¥ 2,500 14 R T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 23 1 0.52 | 0.52 5H 2¥ 2,500 52 Rk - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 23 2 0.11  0.11 5H 2¥ 2,500 A R T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 24 1 0.57 | 0.57 5H 2¥ 2,500 BT Rk - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 24 2 0.09 | 0.09 5H 2¥ 2,500 09 Rk - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 25 0 0.08 | 0.08 5H 2¥ 2,500 08 HEk - T - o Bk
B _EARMAR A RO5 [ MgELUR RS LT | ASET 11 X 26 0 0.18 | 0.18 5H 2¥ 2,500 18 Rk - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 S 27 1 0.09 | 0.09 5H 2¥ 2,500 09 Rk - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 27 2 0.15 | 0.15 5H 2¥ 2,500 15 Rk - T - o Bk
B _EARMAR A RO5 | MgELUR AL | ASET 11 S 27 3 0.1 0.1 5H 2¥ 2,500 10 HEgR - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 28 1 0.04 | 0.04 | 5H 2¥ 2,500 L04 R - T - o Bk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 X 28 2 0.32 | 0.32 5H 2¥ 2,500 32 Rk - T - o BkR
BB EARAMH A RO5 | GBI BB BT ASET 11 % 1 0 0.14 | 0.14 5H 2 | 2,500 L4 REE - T - HBER
BB EARAH A RO5 | GBI EB BT ASET 11 v 2 0 0.53 | 0.53 5H ZF 2,500 .53 fEE - Tl - AR
B _EARMAR A RO5 [ MgELUR RS LT | ASET 11 iz 3 0 0.43 = 0.43 5H 2¥ 2,500 A3 R - T - o Bk
BB EARAHA A RO5 | GBI EB BT | ASET 11 % 4 0 0.44 | 0.44 5H 22,500 L44 REE - T - BB
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(2) JEAk
FIESTT RO N
. Sl - Q ok R RE AT 5 | HEES | spte -
i | g TOTR O HRSE RS ONE B | WRC | macowem R R WO W R e | T
(ha) (4/ha)  (ha)

B _EARMAR A RO5 [ MgELUR RS LT | ASET 11 %+ 10 0 0.18 | 0.18 5H AF 2,500 0.18 filigk - FXI - > ALk
B _EARMAR A RO5 | MgELUR RS LT | ASET 11 %+ 22 0 0.07 | 0.07 5H AF 2,500 0.07 Hiigk - T - > HBGER
b _E MRS RO5 | MgELUR RS LT | ASET 11 4+ 23 0 0.3 0.3 54 AF 2,500 0.30 fiiFk - T - AR
B _EARMAR A RO5 [ MgELUR RS LT | ASET 27 = 6 0 0.05 | 0.05 s 0.05 FHREL - FAl - 2Pk
B _EARMAR A RO5 [ MgELUR RS LT | ASET 27 = 7 0 0.05 | 0.05 s 0.05 FHREL - FAl - 2Pk
B _EARMAR A RO5 [ MgELUR RS LT | ASET 27 = 8 0 0.05 | 0.05 s 0.05 FHREL - FAl- 2Pk
B _EARMAR A RO5 [ MgELUR AL | ASET 28 = 22 1 0.03 | 0.03 s 0.03 FHRL - FAl- 2Pk
B _EARMAR A RO5 [ MgELUR RS LT | ASET 83 A 51 1 0.43 | 0.43 s 0.43 FHEL - TH - wHPikk
B _EARMAR A (ROT) | MEUL | A LT J\IERET 161 = 72 0 0.47 | 0.47 | 10A s 0.47 HHFk - v HPikR

B _EARMAR A (ROT) | MBS LT | J\IEET 285 = 3 0 0.49 | 0.49 | 10A s 0.49 f#Fk - BBk

B _EARMAR A (ROT) | MBS LT | J\REET 285 = 4 0 0.2 0.2 10H s 0.20 F#Fk - v HPkR

B _EARMAR A (ROT) | MBUL | BB LT | J\REET 285 = 5 0 0.18 | 0.18 10/ s 0.18 f#Fk - v HPikR

B _EARMAR A (RO7) | WzERUR | BE_LAT | J\MEHT 369 A 11 2 0.08 | 0.08 | 10A s 0.08 A - “HPkR

B _EARMAR A (RO7) | WzERUR | BE_LAT | J\MEHT 369 A 12 0 0.2 0.2 10A s 0.20 A - “H PR

B _EARMAR A (RO7) | WgERUR | BE_LAT | J\MEHT 369 A 13 2 0.16 | 0.16 | 10A A 0.16 XA - “H Bk

B _EARMAR A (RO7) | WgERUR | BB LT J\MENT 381 A 5 0 0.08 = 0.08 | 104 s 0.08 gk - M PikR

B _EARMAR A (RO7) | WgERUR | BB LT J\MENT 381 A 6 1 0.2 0.2 10A A 0.20 FHFk - v HPikR

B _EARMAR A (RO7) | WgERUR | BB L7 J\MENT 381 A 7 0 0.16 = 0.16 | 104 s 0.16 f#fk - BBk

B _EARMAR A (RO7) | WgERUR | BB LT J\MENT 381 A 24 1 0.06 | 0.06 | 10 s 0.06 fiEFk -+ BBk

B _EARMAR A (RO7) | WgERUR | BB LT J\MENT 381 A 24 2 0.09 | 0.09 | 10A A 0.09 f#Fk - BBk

B _EARMAR A (RO7) | WgERUR | BB LT J\MENT 381 A 25 0 0.13 | 0.13 | 104 s 0.13  H#gk - v HPikR

B _EARMAR A (RO7) | WgERUR | BB L7 J\MEET 381 A 26 1 0.17 | 0.17 | 10A s 0.17 H#Fk - v HPikR

B _EARMAR A (RO7) | WBMR | BB LT (Amn (1) (X) (10) (0) | (0.41) | (0.41) (A %) 0.41 FEL - T« v BBk
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(2) JEAk
FHES T ] ERD N ] ‘
sxmpes | v | Q e R R BE | | X | IR st -
i | g TOTR O HRSE RS ONE B | WRC | macowem R R WO W R e | T
(ha) (#/ha) | (ha)

b LA pRAL ROT) | MR | AR B (ARED (1) (%) | (10) (0) | (0.13) | (0.13) (A=) J13 TERL - R - obikR
b LA pkAL ROT) | MR | AR B (ARED (1D (%) | (10) (1) | (0.28) | (0.28) (A=) .28 TERL - FA - Bk
b LA pkAL ROT) | MR | AR B (ARED (1) (%) | (10) (3) | (0.11) | (0.11) (A=) BRI AU DURIS 752
b LA pkA & ROT) | MR | AR B (ARED (1) (x) | (10) (0) | (0.22) @ (0.22) (A=) .22 TERL - P - vaBikR
b LA pRAL ROT) | B | AR B (ARED (1) (%) | (10) (1) | (0.36) | (0.36) (A=) .36 TERL - P omBikR
b LA pkAL ROT) | MBI | AR B (ARED (1) (%) | (10) (2) | (0.52) | (0.52) (A=) .52 TEL - FA - bR
b LA pkAL ROT) | MBI | AR B (ARED (1) (x) | (10) (3) | (0.28) | (0.28) (A=) .28 TERL - FA - omBikR
b LA pRAL ROT) | B | AR B (ARED (1) (%) | (10) (1) | (0.11) | (0.11) (A=) BRI AU DURIS 752
b LA pkAL ROT) | B | AR B (ARED (1D (%) | (10) (2) | (0.08) | (0.08) ) .08 TEL - FA - Bk
b LA pkAL ROT) | MBI | AR B (ARED (1) (%) | (10) (3) 0.4) | (0.4) (A=) 40 TERL - R - Bk
b LA pkA & ROT) | MR | AR B (ARED (1) (x) | (10) (1) | (0.14) | (0.14) (A=) L1400 TRL - R - Bk
B LA pkAL & ROT) | MR | AR B (ARED (A1) (%) | (10) (2) | (0.02) | (0.02) (A=) .02 TERL - R - Bk
b LA pkAL ROT) | MR | AR B (ARED (1) (%) | (10) (0) | (0.32) | (0.32) (A=) .32 TERL - P - vabhikR
b LA pkA & ROT) | MR | AR B (ARED (1) (x) | (10) (0) | (0.14) | (0.14) (A=) L1400 TRL - R - bk
b LA pRAL ROT) | B | AR B (ARED (1) (%) | (10) (1) | (0.52) @ (0.52) (A=) .52 TEL - FA - bR
b LA pkAL ROT) | MBI | AR B (ARED (1) (x) | (10) () | (0.11) | (0.11) (A=) BRI AU DURIS 752
b LA pkAL ROT) | B | AR B (ARED (1) (%) | (10) (1) | (0.57) | (0.57) (A=) LB7  TEL - FX - bR
b LA pkAL & ROT) | MR | AR B (ARED (1) (%) | (10) (2) | (0.09) | (0.09) (A=) .09 TEL - FA - Bk
b LA pkAL ROT) | B | AR B (ARED (1D (%) | (10) (0) | (0.08) | (0.08) ) .08 TEL - FA - Bk
B LA pkAL & ROT) | B | AR B (FRED (1) (%) | (10) (0) | (0.18) | (0.18) (A=) L18  TERL - FA - bR
b LA pkA & ROT) | B | AR B (ARED (1) (%) | (10) (1) | (0.09) | (0.09) (A=) .09 TEL - FA - Bk
B LA pkAL & ROT) | MR | AR B (ARED (1) (%) | (10) (2) | (0.15) | (0.15) (A=) J15 TERL - R - bk
B LA phAL ROT) | MR | AR B (ARED (1) (%) | (10) (3) 0.1 | (0.1) (A=) L1000 TERL - R - Bk
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(2) JEAk
FHES T ] ERD N ] ‘
wemesn | ww | Q IR L W AR HEET | i i
e | g TR IR TERBEONE R | ERC mR e B REC | WRC R BRE Hoksis | T
(ha) (#/ha) | (ha)

b LA pRAL RO7) | WgRLBL | BR BT (RRED (D) (%) | (10) (1) | (0.04) @ (0.04) (A=) .04 TERL - FA - bR
b LA pkAL (ROT) | IR | AR L (BRED D (X)) | 10) | (2) | (0.32) | (0.32) (A%) .32 WL - TA- v Bk
b LA pkAL RO7) | WgRLBL | BR BT (BRED) (1D vy | Qan (0) | (0.14) | (0.14) (A=) 14 FmRLU - T 2Bk
b LA pkA & RO7) | WgRLBL | BR BT (RRED) (D) vy | Qan (0) | (0.53) | (0.53) (A=) .53 L - TAI - Bk
b LA pRAL RO7) | WgRLBL | BR BT (RRED (1D vy | Qan (0) | (0.43) @ (0.43) (A=) 43 ERLU - T 2Bk
b LA pkAL RO7) | WgRLBL | BR BT (RRED) (D) vy | Qan (0) | (0.44) | (0.44) (A=) J44 ERLU - AL 2Bk
b LA pkAL RO7) | WgRLBL | BR BT (RRED (D) ) 12) (0) | (0.18) | (0.18) (A=) L18  TEL - FA - bR
b LA pRAL (ROT) | IERWL | AR LM (BRED D G A2 | (0) | 0.07) | (0.07) (A%) L07T TR L - FA- Bk
b LA pkAL RO7) | WgRLBL | BR BT (RRED) (D) ) | 12) (0) 0.3) | (0.3) ) .30 TEL - R - omBikR
b LA pkAL ROT) | R | ES B (AR @D (m) (2) (0) | (0.05) | (0.05) (A %) L0565  TEL - FAl- Bk
b LA pkA & ROT) | R | ES B (AR @D (m) (2) (0) | (0.05) | (0.05) (A %) L0565  TEL - FAl- Bk
B LA pkAL & ROT) | R | ES BT (AR @D (m) (2) (0) | (0.05) | (0.05) (A %) L0565  TEL - FAl- Bk
b LA pkAL ROT) | BERUL | ES BT (ARED (28) (@) (2) (1) | 0.03) | (0.03) (A %) L03 TEL - FAL- Bk
b LA pkA & (RO7) | WgRBL | BE BT (FURET)  (65) 1) 1) (0) | (3.62)  (3.62) (A=) .62 TR L - TAI- Bk
b LA pRAL (RO7) | WgRBL | BB BT (FURET)  (65) (CQV) (3) (0) | (0.89) | (0.89) | (4H) = (*F) | (3000) .89 Ak - TAI - I BARR
b LA pkAL ROT) | R | ES BT (ARED (139) - (R) (7) 0 | 0.1 | (0.1 | 4A)  (&F) | (3000) J10 HEER - AL - > Bk
b LA pkAL ROT) | R | ES BT (ARED (139) 0 (R) (7) (0) | 0.14) | (0.14) | (4A)  (AF) | (3000) J14 R - AL - v Bk
b LA pkAL & (ROT) | R | ES BT (ARED (139) 0 (R) (7) (0) | (0.13) | (0.13) | (4A)  (AF) | (3000) J13 R - AL - v Bk
b LA pkAL (RO7) | WgRLBL | BB BT (BRED) (139) | (M) (7) 0 | 0.17) | (0.17) | (4H) = (AF) | (3000) 1T R - TR - BB
B LA pkAL & (RO7) | WgRLBL | BB BT (RRED (139) | (M) (7) (0) | 0.27) | (0.27) | (4H)  (*F) | (3000) 27 Ak - T - o BERR
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